MAT 201 Section 2.6 questions 2/16/15

#51,2 (a) Find y" by implicit differentiation.
(b) Solve the equation explicitly for y and differentiate to get y" in
terms of x.
(c) Check that your solutions to parts (a) and (b) are consistent by
substituting the expression for y into your solution for part (a).
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#s3-11: Find d—:y by implicit differentiation.
X
3. xX*+y=1 7. 4cosxsiny =1 10. ycos x =1+sin(xy)
2 2
4 XTHxy -yt =4 8. tan[§j=x+y
y
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x*(x+y)=y*(3x-vy)

. 2
6. ycosx=x’+y? 9. Yy =1+xy

11 1F f(x)+x?[f(x) =10 and f(1)=2, find f'(1).
12. Regard y as the independent variable and x as the dependent variable, and use implicit differentiation

to find g_x ,if x and y are related by the equation x*y? —x*y +2xy* =0
y

#s 14, 15: Use implicit differentiation to find an equation of the tangent line to the curve at the given point.

2 2 _ .
13. ysin(2x) = xcos(2y) @ (zﬁ%) 14. x> +xy +y* =3 @ (11) (ellipse)
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15. Find an equation of the tangent line to the hyperbola % - % =1@ (xo, yo).

16. Show, using implicit differentiation, that any tanget line to the circle at a point P on the circle, with
center O, is going to be perpendicular to the radius OP.



